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(A) Acceleratium‘i
i
(B) Masgs

(C)
o Bot.h (4) anq (g)

) Neither (A) nop (B)
2. Whj

hufh of the followif®

relationships is correct ?
(A) m=F/a
(B) F=m/a
(©) a=mF
(D) None of the above

3 The higher the jump, the “harder’
the landing. This statement

coflects which of the followirg

e to gra\f;lt:"

laws?
(A) Law of Inertia

(B) Law of momentum

(C) Law of action and reactio

(©C) none

@) depends 8 the situation

4758(A)-Series” d (1)

() a=m/F

(D) s & & FE T

Rl et g gan e AT T8
7o fre 3 @ frm fraw @ <afan @ 7
A) wza &

(B) @ & fm

€) Frn-uffyr & Frm

(D) % = Frem

o TRRRE ¥ oy
i 3 7 F e AT

(A) =gy
B)
© % 7

D) Rl 52 e e &



-1

thight of a discus ”
(A} Speed at release

(B} Projection angle

Which of the following affects the

(Y Onrmentation angle relative to

the wind

(I All the above

6. Which of the following 1s

example of a flat bone ?

({A) Talus bone
By Maxlla
(Cy Radius

(D) Scapula

an

7. Which of the following 18 an

example of irregular bone ?

(A) Radius
(B) Rib
(C) Femur

(D) Vertebrae

B. A contraction in which there 1s not

a change in length 18 called :

(A) Dynamic
(3) Isometric
(C) Concentric

(D) lsokinetic

4753(A)-Series-P

(2)

59

EEd A I3 R At d 3o

TiaR FIA 77

Ay FHET 3 aum oy

(B) TET g

(Cy EAF AME AtEaE F#m

D) TTEE A

efefga § 8 $9.d1 o e BT
FOTEET B 7

(A) e EzH
By afdaen
() =uH

(D) &hgen
Frafefag § 8 @9-m o sfvafa 238
F IART R

(A) zua
(B) M=
(C) &MY

(D) FANETF
o e P wa § oftadd T

5
far & 3@ a1 Fel A 27



9. A single muscle cell is called what? 9. uF e gl FifaE s FEadE 2 oY

{A) Neuron (A} T

(By Umt (B) 3f¥z

(C) Fiber (C) Far (FEaT)

(D) None of the above (D) TTE B f FrE 9

10. Muscle hypertrophy in humans is 10. gt @ st sfAgis TE =1 &

primarily due to : frm o S % 7 -

(A) increase in number of muscle (A) mfigt # A3t 41 #eg 4 gfz
fibres 3 FroT

(B) increase in size of muscle (B) #&dad # A9 % wFw & gia
fibres F FTT

(C) Both (A) and (B) (C) (A) 307 (B) #149t

(D) None of the above (D) Iv0F H ® FE

11. Function of long bones in the body 11. T & o<t sfeegt 71 34 2
is to: (A) sfEs Z=n

1 h
(A) give strengt ®) wo

(C) a7 & =7 & F9 F7
(D) #rEafeEt & qz| % fAn w4 A

(B) give protection
(C) acts as lever

(D) provide surface area for

muscle attachment qEH FOT
12. Study of bones is called : 12. #esd 3 s @ w A
(A) Osteoporosis ' (A) sfedmirifas
(B) Osteology (B) gt
(C) Otology (C) St
(D) Anthology (D) carEtH

4753(A)-Series-P (3)



43,

14.

15.

16,

4753(A)-Series-pP

he skeleton of thorax is made up
of ?
(A) Cart lage

(B) Bone

(C) Both (A) and (B)

(D) None of the above

Paraboly is :

(A) The Path of
Projected

Path of an

an  object

INto free air

B object formed with

air resistance

(C) Path of the object falling
vertically down
(D)

None of the above

In which type of lever, the force is
In between weight and fulcrum ?
(A) Typel

(B) Typell

(C) Type Il

(D) All the above

Synovial joints are

(A) slightly movable joints

(B) freely movable joints
(C) both (A) and (B)

(D) none of the above

(4)

13 S S am A o

(A) Iy
(B) ey

() (A) i B) 4

D) I & 4 35 47

15. 8 s & dmt § qu, o s o
# 4 By k7

(A) =ru |
(B) zmm II
(C) =@y 111
(D) Ivdga
16. ArgETaEs 9T ¥
(A) snfea wfa
(B) = #fa
(C) (A) 3% (B) &
(D) v & 3 B¢



17.

18.

19.

20.

4753(A)-Series-P

‘Latissimus Dorsi’ is situated in

(A) lower leg

(B) thigh

(C) back

(D) upper arm

‘Hunchback’ is also known as:
(A) Back pain

(B) Scoliosis

(C) Lordosis

(D) Kyphosis

Which of the following is a ball and
socket joint ?

(A) Hip joint

(B) Shoulder joint

(C) Both (A) and (B)

(D) None of the above
‘Lordosis’ is also called as ?
(A) Round back

(B) Hollow back

(C) Lateral back

(D) Back curve

(5)

18,

19.

20.

ettt Fer 2t 3

(Ay AT o g
(B) Ay o
() g o

(D) e oy

TEE W e 3 owy o o FE A
7.

(A) = =%
(B) wfsafag
(D) Fa=sfaa

frefafar & 3 a5 e
fée wfy & ?

(A) (g2 af

(B) %4 #1 gfx

(C) (A) 3 (B) 31
(D) 797 & 3 # A

()

At ] ow/qw B A 20
(A) Tz ¥
(B) & &%
(C) &= &
(D) ¥ =



21. What type of bones perform the
function of giving strength 7
()
(B)
()

Long bones

Regular bones

IFlat bones

(D)) Short hones

Duration of "macro cycle 1s
(A} more than one year
(B)
(C) 2weeks

(D) 4days

23. What is velocity ?

2 months

Change in displacement

(A)

time

Time
(B)

Change in displacement

Change in displacement
Speed

(C)

Total distance travelled

Time

24. What plane of motion lies
vertically and divides the body into
left and right halves ?

(A} The transverse plane

(B) The sagittal plane

(C) The frontal plane

(D) None of the above

4 753(:\]—801-1'&5—? (6)

b T A fgeal AFE T ER
Fd &7 7 7
(B) frafa #fg=dl

b

(C) gue 2EEd

S
[

0o, ‘HE TH T A 2
(A) ua:a‘dﬁ&'lfﬂ?ﬁ
(B) 2%
(C)y 2 qdme
(D) 4 f=
23, IMEME ’
fres § 35
e

(A)

o
(B) e
Eroiec i ECRIL
e § 929
i

F aq 71 7 31
(D} “.5 .

e —

(C)

— —

qJ9g

24. A F AT A gag Faad 8 AT AR
A s oz fod o AT F
27

(A)
(B)
()
(D)

AL L I
Hfiren mam
I A A g A



el FAt F IATE
represents 256. F-a1 g4 feafaa

25. Which formula
. " = 1 "-.'
potentlal energy ’ (A) PE=%m

(A) PE='mv? (B) PE=mh
(B) PE=mh (C) PE=mgh
() PE=mgh (D) PE = mgh?
(D) PE=mgh’ ,
26. Which of the following is notalong 26, Preffed 3 H F-d e wxd T
bone ? ¥ 7
(A) Femur (A) M7
(B) Radius (B) eyw
(C) Tibia (C) Az
(D) Rib D) fr3
27. Which of the following roles can 27, e & & #9-1 9t agr Fdardl
muscles take in group action ? 2 arnirgt & & g% 2 7
(A) Movers or agonists (A) Fad a1 wifE
(B) Stabilizers (B) wfyam=rd
(C) Neutralizers () -
(D) All the above
28. Which of the following can never . (D) EWﬂﬂ: :ﬁ! -l
be treated as a hinge joint ? | Tt m—-ﬁ'm mﬁ;fr T
(A) The elbow |
(B) The knee A 3l A sha
(C) The wrist ®) 5 A s
(D) The ankle © =R & s
(D) === #r qf

4753(A)-Series-p .



29, Which of the followin

3L

32.

B 18 often

used as g fielq test of powey ?

(A) The standing vertical jump
(B) w alking
(C) Running

movement ?
(A) d.istance

B) flight time

€) accuracy

increasing muscle mass ip

those
who use it ?

(A) Anabolic steroids
B) Erythropoietin
(C) Diuretics

(D) Strychnine

In  which year did the

International Olympic Committee
ban the use of

enhancing drugs ?
(A) 1923

B) 2008
(C) 1904
(D) 1067

performance

4753(A)—-Seri33~1’

(8)

30.

31.

32,

TR E B Y i b o 3 2
(A) @E@WE

(B) T8 o
€) ¥

D) TR 9 ffey

hﬂfaﬁaaﬂ%a?mdﬁnqgﬁzmg@
AL R AR

&) zh

B) ITW 31 amg

(C) wéiam

D) i & & 7%

TR T awh A T R

ﬁmmm%ﬂmmm
TR ¥ TR A e 2 ?

(A) Tt e

(B) e

(©) =gty

(D) w=m (fegaf)

TH A sy ofePr S 3

T R AR @ @ I w
ot @ R ?

(A) 1923
(B) 2008
(C) 1904

(D) 1967



33. Blood doping with erythropoietin

improves an athlete’s performance

3. nfrieRa & am e A B aee

T % O # R § e fvm 7
by what process ?
(A) Increasing the number of red (A) ofir 4 3@ @ Higmd F Dan
blood cells in the body q gie HH

(B) Cooling the blood
{C) Making blood circulate much

(D) Thinning the blood

(B) ™ W W &

(D) TR & @

34, = e T @l W o I @
[ wad s qfer Rl o & 2

34. What is the most-common testing
method for detecting performance

enhancing drugs ?

A) T i
(A) Collection of blood samples W i
(B) Collection of urine samples B) 5 3 A W w0
(C) Coliection of saliva samples () A% 77 o o

(D) None of the abgve

D) 3w d & &
88. Which sport has the highest

38. W Aw 3 A wEa ot = A A
amount of doping ? -
(A) Wrestling A) g
(B) Football (B) wedfa
(C) Cycling (C) e
(D) Baseball D) kg
36. When did the use of anabolic 36. I ¥ Tdfes Rius W WM &
gteroids in sports start ? s & ?
(A) 1964 (A) 1964
(B) 1914 (B) 1974
(C) 194 () 1944
D) 1964 (D) 1054

4153(A)-Series-P (9)



41.
-

42,

43.

44,

4763(A)-Series-P

Which tennis star was given a £

year ban from the sport in 2016
for doping ?

(A) Petra Kvitova

(B) Venus Williams

(C) Maria Sharapova

(D) Caroline Wozniacki

Which sport causes the most head
injuries ?

(A) Football

(B) Volleyball

(C) Basketball

(D) Cycling

Of the terms below, which is not a

movement of the foot ?
(A) inversion

(B) plantar flexion

(C) dorsi flexion

(D) aversion

Factors that must be considered
in order to prevent foot injuries
include :

(A) proper footwear
(B) adapting totraining surfaces

(C) correcting biomechanical
deficiencies

(D) all the above

41,

42,

43.

44,

(11)

T F |'.'m 2016 if
oy 2 =1 A

wnzmﬁf?r""””“ﬁpw

e A F98 A e 41 A #’
FOT T 2 7

(A) Faa

(B) dfefretd

(C) FIFzara

(D) =i

9 Ry oo § Fe-a AR T
F 74 8 7

(A) T

(B) @it FRH

(C) 2t wwE

(D) A

W # A A& A B o B @
F FF TG ALY, I ME 2

(A) IFm@ wE

(B) wE ARM & IR e

(C) s FAt F F F

(D) I qe



45. When an elbow is dislocated it 18

consider the

important to
possibility of what secondary
imjury ’
(A) fracture

(B) tearing of the nerves

(C) disruption of normal blood

supply

(D) all of the above

46. Which of the following is not a

hone of the shoulder ?

Coecvx

{A)

(B) Humerus

(C) Scapula

(D) Clavicle

'7. The primary purpose of a

pre-season health exam is to:

(A) Identify whether an athlete is
at risk before they participate

body fat

(B) Determine
percentages for coaches
~) Reveal qualifying conditions
) Satisfy insurance and hability
13sues

Series-P (12)

g5 70 R et A A R, A
FE AT e F@ o T AFITF

A AR
(A BEFET

(B) FH W FT
() B T gl A S
(D) T Al

46. faefafea A @ @ %3 W Fgdt T

37
(A) PIFHT
(B) g
(C) THUIRY
(D) &aet
ﬁﬁ-#ﬁmqﬁmwmﬁm
ey AT 2
(A) Wfta:ﬁ'?%wmﬂﬁﬁwzﬁug
Wﬁfm%‘ﬁ?ﬂﬁﬁﬂﬂﬁﬁg
gaw 4 T &
(B) Fg @ Bo gt 7 @ g
fwifid #¢1 # [T
(C) i g @ IR & B
fa
(D) @ s T gE A T EFA 3



48. The fibula bone is found 1

49,

50.

51.

4753(A)-Series-P

n which
part of the body ?

(A) Upper arm

(B) Lower leg

(C) Upper leg

(D) Foot

The longest bone of the body 15
(A) humerus

(B) tibia

(C) femur

(D) radius

The main functions of the
ligaments in the body are :

(A) strength

(B) support

(C) stability

D) all of the above

Using high-frequency sound waves
to treat deep tissue injuries is also

knownas: http://www ccsustudy.com

(A) laser therapy
(B) ultrasound
(C) short wave diathermy

(D) x-ray

48.

49.

30.

5l.

(13)

(C) T

(D) eTH
ﬂfﬁﬁmgdﬁ%g@ﬁﬁ?

(A) ofFE
(B) #E
(C) Feeran &
(D) JwF 8

wh A 99 & Fe B eI
-mﬁaﬁafﬂ%mﬁﬂﬁﬁfaﬁ'{ﬁm

& o o 8
A) o T
(B) HHHRE
©) 9t ¥ s

(D) -1



52, Which injury is common in racket
sports ?
(A) Hernia
(B) Head injury
(C) Tenniselbow
(D) Broken toe
53. What should you do after exercise
to prevent injury and soreness ?
(A) go to the market
(B) take a protein shake
(C) doa cool-down
(D) all of the above

54. Isometric exercise 18 the one in

which muscle length is :
(A) constant

(B) shortened

(C) lengthens

(D) none of the above

85. Isokinetic method of training was

introduced by :
(A) G.D.Sondhi
(B) J.J. Perrine
(C) Aristotle

(D) Hippocrates

4753(A)-Series-P (14)

53.

a4.

55.



56. Pushingagainst the starionary wall

18 an example of -
. ,QHI aa:p:“-f‘:e";;: .-_‘“":_.Ibq #
(A) Eccentric exercjen :

(B) wrgeindfyE AT H

(C) wgwrE A

fB) [sometric exXercise

(C) lsotonic exercise

(D) Isokinetic exercise (D) wEErEEAF A ﬂﬁ B
57. Stadiometer is used to measure *©  57. m"—"’“’ﬂ TEm A oA A
A 8 !
(A) Strength .
(B) Weight B) T
(C) Height ©) 2o
(D) Stadium area (D) =feay 37 o

68. Adaptation totrainingload at high  58. 337 77 ofiwm w7 # ST F A

altitudes 1s known as - FHE A R 7

(A) thermoregulation (A) W’m

(B) super compensation B) T FE
(C) acclimatization ©) -

None of the aboy . e
(D) ve (D) 3w d F 3

59. Aerobic fitness is best achieved  59. Tifaw FreAw 5w sm 7 3z o0

through : B oad g7

(A) Swimming (A) = A

(B) Circuit training (B) #f¥z oforer &
(C) Short Sprints (C) 8 33t A

(D) Long distance running D) &= 3h # A |

4753(A)-Series-P (15)



60. Basic principle of Fartlek training

I8
(A) Variation in space
(B) Variation in pace
(C) Variation in duration
(D) Variation in place
61. Speed play is also known as :
(A} Weight training
(B) Pressure training
(C) Fartlek training
(D) Interval training
62. ‘Active flexibility’ refers to :
(A) Muscular stretch without
assistance
(B) Muscular
assistance

stretch with

(C) Stretching at maximum
range
(D) None of the above

63. Legstrength can be best improved
by which of the following activity ?

(A) highjumps
(B) depth jumps
(©) push-ups
D) chin-ups

4753(A)-Series-P

Bu.mmmﬁm%:
(A) T ¥ ofrads
B T A oftadw
(C) N H oftads
D) &R # ofadq

61. -aﬂsﬂ'ﬂaﬁ?mmﬁmm

% 2
p -

(A) AT 2
(B) TR
(C) Frus 3Fm
(D) =0d qidrem
62 ‘FF TE { Al ¥ -

(A) WEW & e wEARTE ¥ fejeng
(B) Wermdl & g AR ¥ R
(C) sitrrm e 7 B @1 iy
D) T ¥ ¥ B

ss.énﬁ'uaﬁﬁraﬁrﬁwi’f@ﬁm
TR Zw Yem T w1 e R

(&) 6 3z
(B) Tl 3z (3w am)
(C) g~
D) FE-ar

(16)



Physical ahilyy, - P .
G‘I :' -F "" } it rl l‘ﬁ“h‘ﬂq :l si_ mfﬁ‘F Fq—rq'{ m T‘.m
perﬂﬂn tﬂ rﬂp]fll-; ‘,_'h',r

- it Frem 3y -Ji”
e st e
and l‘lll"ﬁ"(‘:tlfl!'l in:"l"h'rmp nner n 1 4 L m &' R
18 called - ma 'mp‘li ,
(A) Speed (A) nFy
(B) Balanes (By s
(] Courdinatif,n (Cy o=
(D] Aﬂ'lhty Ty T
68. Best method y,, develop exibility g Tt A ) md w
is : iy % .
(A) Balliaticmethod (&) e oy
Slo |
:;2: | ¥ Methog B) = 2w
ow stretching and holding
method €) = 25y A A
(D) Relaxatiop, Methog D) R o
66.

T T e o b
(A4) Running (A) 7Pm
(B) Ahdominalcrunchea B) w=fem s34
©) Back hyperextension ©) ¥ R
D) Lateralbending D) Azm ¥
87. Circuit training ig ap effective gy w7 it s 53 2 T
method for develnping: T o w3
(A) speed (A) =fx
(B) flexibility (B) Fdramm
(C) strength endurance © v R
D) agility D) e
4753{&)—Series—P

(17)



68. Tactical training is done’

(A) After skills are mast
m.-mTt‘rc*d

ered

(B) Before skills are
(C) Both Tactical traimng and

technical training are done
side by side
(D) All the above
69. What is the duration of a football
game ?
(A) 45-2-45 (min)
(B) 45-10-45 (min)
(C) 40-10-40 (min)
(D) 35-10-35 (min)

70. The ability to overcome resistance

is called :

(A) Dynamic strength
(B) Static strength

(C) Relative strength
(D) Strength endurance

71. Which of the following does not
include in the principles of sports
training ?

(A) Progression of load
(B) Cyclicity of training
(C) Continuity

(D) Economy of movement

71.

(18)

4753(A)-Series-P



72, What is the na

73.

4.

7.

4753(A)-Series-F

Me of muscle:
located at the fy,

of your chest?
(A) Biceps

(B) Deltowds

(C) Gluteals

(D) Pectorals

To support Joints gfyer injury.
what may a phys;, use ?

(A) Tape and strapping

(B) Super glue

(C) cello tape

(D) All of the above

Which of these is an exercise for

the knee ?

(A) Bicep curl

(B) Crunch

(C) Straight leg raise

(D) Pelvictilt

Which of these conditions would not
be treated by a physiotherapist?
(A) Depression

(B) Tornligaments

(C) Muscle strains

(D) All of the above

73.

74.

75.

(19)



78. Standard deviation of population 786, TG F A A A e P
is denoted by - b
A) Q (A) Q&
(B) (B) oIl
© o (€) o7
(D) T M T zm
77. Difference of mode and mean is 77, 9% AT WA & FAT T8
equal to (A) 3 (AT — S
(A) 3 (mean - median) B) 2 (e - sfeaE)
(B) 2(mean - median) (©) 3 (T - T
(C) 3 (mean - mode) D) 2 (@5 )
(D} 2 (mode mean)
78. Ifthe mean is 11 and the median 78, ¥ o1& 11 } i oftmm 13 3, &
18 13, then the value of mode is TS WA R
(A) 15 (A) 15
(B) 13 (B) 13
€ 1 ) 11
D) 17 D) 17
79. Find the mean in the following 79, Py et =1 g e -
numbers : 19, 21, 17, 18, 22, 46 19,21, 17, 18, 22, 46
(A) 16 (A) 16
(B) 23 ® 2
) 19 © 19
2 (D) 20
4753(A)-Series-p
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80.

81.

4753(A)-Series-P

Fiﬂd the mﬂfh;“

numbers ' o the fr)lluwnz-.;
9.. 8, 15, 8‘ 2["’
W2y
©) 9 M, )
Find the meg,

T the following
numbers -

gf 8. 81. ]5. B‘ 2(11 II..J
(A) 15

fH: B
€ 9 (D) &)
Arithmetic Mean i 1 and number
ofubaervationa e 20, then gun
of all valyes is
(A) 8 B) 3
(C) 240 D) 1467

The coefficient of Correlation is

computed to be _ g g qit means

that :

(A) The relatinnship between two
variables is weak

(B) The relationship between two

variables ig 8trong and
Positive ,
(C) The relationship between two
variables is strong and
negative
Correlation coefficient can
not have this value

(D)

(

81.

82,

83.

1)

- P '“- w
& =) nrEgrat o oot T AT

fi_ - '[;.1_ o, 24

(A) 20 (B) 15

LIS e Fl)_'l Ll

: 2 Fta
?uﬁﬁ:mmmﬂ?ﬂrm}‘” |

3,8,8,15, 8,20, 15

Ay 15 By &8

(Cy 9 Dy 20

FETHET T 12 ¥ o s
B 20 % A mift gt g7 gm 2

(A) 8

(By 32
(C) 240 M 1667

T T R 9w - 095 ?
T MY
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. _ ies
Correlat ion coefficient values li€

bet\\'een

(A)

+1and +2

(B)

-]l and +]

(C) Oand+1

(D) -1andg

What type of force does a lifter

apply to lift a load ?
(A) Mechanical force
(B) Muscular force
(C) Frictional force
(D) Gravitational force

What causes a stretched spring to
return to its original position after
being released ?

(A) Muscular force
(B) Mechanical force
(C) Frictional force

(D) Elastic force

(22)
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g7. Product Mt o

Uarrelation .,

g]..‘u'['l'l h:f R7. T TH-
A K (A} = s
A) RKar] P, ]
T (B) &2
(B) Garret i) FE
My F=F
(C) Speﬂﬂl‘lan D :
(D) Kendal)
88. IfXandYare; v e Y quwg’"
’ are independent to ¢ach g8, a7 X 37 Y OF ek
other, the coefficient of correlation mxwe H TE ©
8
(A) -1
@) -1 (B) 0
B) 0 (€) 41
(D) =F T8
(C) +1
(D) None

ammmwiw

89. Two regression lines are parallel 89. ;
kB A T 3 Zd B

to aach other if their slope i8 :

(A) o=
(A) different
B) @
(B) same (©) T
(C) negative D) 7 A ¢

(D) none of these
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96. Recreation is defined as :
(A) The process of giving new life
to something
(B) Bonding with mother nature
(C) Any process that is non work
related
(D) Socializing with two or more
people
97. The recreation process leads to ;
(A) having fun
(B) happiness
(C) saving money
(D) socializing
98, Birthday party is related with
which of the recreation activity ?
(A) Craft activity
(B) Dance activity
(C) Social activity
(D) Games and sports activity

99, Which sports would promote the

most cardiovascular fitness
(A) Wrestling
(B) Baseball
(C)
(D) Bowling

Soccer
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